Pited BS
Dagbridge 2021-09-16

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poang % Namn MID Klubb
1 8 153.0 63.75 Anders Nilsen - Lennart Strand 23874 63760 Pited BS
2 9 145.0 60.42 Rigmor Johansson - Urban Renlund 63761 35020 Pited BS
3 4 132.0 55.00 Lars Nilsson - Viking Sandas 2197 87783 Pited BS
4 7 128.0 53.33 Jan Svanborg - Annica Ericsson 82880 14937 Pited BS
5 11 125.0 52.08 Lennart Skold - Erling Ericsson 18701 14936 Pited BS
6 2 123.0 51.25 Rune Nordberg - Osten Berglund 12926 87794 Pited BS
7 5 118.0 49.17 Karin Hartman - Lilian Pekonen 85932 49306 Pited BS
8 10 115.0 47.92 Goran Isaksson - Margit Isaksson 46513 - Pited BS
9 3 105.0 43.75 Erling Hartman - Stig Bergqvist 85931 5263 Pited BS
9 6 105.0 43.75 Stig Hedenstrém - Eva Johansson 5272 55327 Pited BS
11 1 96.0 40.00 Berit Johansson - Bertil Nordberg 47352 44017 Pited BS
12 12 95.0 39.58 Lars-Ingvar Norberg - Barbro Isaksson 85935 50205 Pited BS
1 4« Kn97 2 « EK4 3 4« D65
Nord vE9753 Ost v KD942 Syd vD973
Ingen ¢+ D32 NS ¢ E105 ov 498
#Kn8 K9 #Kn984
4EK3 4D1082 4 DKn1098 765 4 Kn4 4832
vKD4 vKn862 vE108 v Kn7653 vE654 8
+1096 +E74 ¢+ KD8 + Kn643 ¢ 754 + EDKn106
#EK92 #74 *63 8 #EK106 #D752
4 654 32 « EK1097
v 10 v- v KKn102
¢ KKn85 4972 ¢ K32
#D10653 &#EDKn107542 &3
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 6 3NV-1 2 50 90 1.0|11 2 6NN= 47 1440 90 10| 8 5 14 S+3 ¢7 170 10.0 0.0
11 2 44 V-1 vT 50 90 10|12 1 6NN= 45 1440 90 10| 3 10 24 S+1 7 140 50 5.0
4 9 INV+2 v3 -150 6.0 40| 8 5 3NN+4 a7 720 6.0 40| 4 9 24S+1 &K 140 50 5.0
8 5 240+2 vT -170 40 6.0| 3 10 3BNN+3 v3 690 40 60| 7 6 24 S+1 &T 140 50 5.0
3 10 3NV= v5 -400 20 80| 7 6 3NN+2 +6 660 20 8.0(12 1 1a S+2 #A 140 50 5.0
12 1 3NV +1 v5 -430 00 100| 4 9 5#S+2 vA 640 0.0 100|11 2 3¢ 0O-1 a A 100 0.0 10.0
4 4« EK8 5 a- 6 4 K5432
Vast v DKn75 Nord vKn74 Ost v 104
Alla ¢+ Kn74 NS ¢ KD9542 ov ¢+ D43
#652 #D1093 *EK4
«D10 4943 4K1042 4875 4ED86 -
vEK963 v1042 vEK83 10652 v5 v EKn96
4853 + E96 ¢E3 +76 4109865 ¢ K72
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4 Kn7652 « EDKn963 4« Kn1097
v8 vD9 v KD8732
¢ KD102 + Kn108 ¢ EKn
#Kn93 84 &5
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
8 7 3vV-2 oA 200 9.0 1.0| 4 11 2¢DN+1 438 380 100 00| 8 7 44D0O-3 +A 800 10.0 0.0
9 6 4v V-2 s A 200 90 10| 1 3 4v0-2 49 100 80 20| 510 2vS+1 &T 140 70 3.0
12 2 4v V-1 »6 100 6.0 40| 8 7 3v0O-1 a A 50 6.0 40| 9 6 34 N= *7 140 70 3.0
5 10 INO= a5 -90 40 60| 9 6 1vO+1 &9 -110 40 60| 1 3 3vS-1 &T -50 40 6.0
1 3 INO+1 2 -120 10 90| 5 10 3v V= + K -140 20 8.0| 4 11 3NN-2 LN -100 1.0 9.0
4 11 2NV = oK -120 10 90(12 2 3¢DN-1 &5 -200 0.0 10.0|12 2 44 N-2 *Q -100 1.0 90
7 4Knl0 8 4 Kn10972 9 4 D852
Syd v 109 Vast v K1082 Nord v-
Alla + E10854 Ingen +K ov ¢ KKn76532
#DKn32 #EKKn *E4
4 EKD42 453 4ED843 46 4 E9764 4 KKn
vEKKn82 ¢3 vD953  vKn6 v 84 vED72
.- + KDKn973 ¢ E87 ¢ 109543 1084 ¢-
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vD7654 vE74 v KKn109653
¢ 62 ¢ DKn62 + ED9
+K5 #D532 »6
Par  Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
6 11 44 V-2 *2 200 100 00| 5 1 24DV-3 +¢K 500 100 00|10 7 64DO-3 +A 800 10.0 0.0
5 1 44 V-1 vT 100 6.0 40| 9 8 3NN= &T 400 70 30| 2 4 5¢ N-1 *] -50 6.0 4.0
10 7 44 V-1 ¢ A 100 6.0 40|12 3 3NN= v] 400 70 30| 5 1 4¢N-1 *K -50 6.0 4.0
12 3 44 V-1 vT 100 6.0 40| 2 4 2NS+2 a4 180 40 6.0|12 3 5¢ N-1 L} -50 6.0 4.0
2 4 3NO= 49 -600 20 80| 6 11 3v N= 46 140 20 8.0| 6 11 54DN-1 #2 -100 20 8.0
9 8 3NO+1 +v4 -630 0.0 100|10 7 2¢v N= 46 110 0.0 100| 9 8 5¢DN-2 &J -300 0.0 10.0
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*K86 #KD102 #EKn873
&« K5 41073 « KD8642 4 E103 4Kn973 484
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& DKn92 a- & K52
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¢ DKn952 ¢ EK43 + ED9865
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Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 1 INN+3 *7 180 00 00| 6 2 3NN= aT 400 80 20| 7 1 3NN+l .7 630 10.0 0.0
11 8 INN+2 *7 150 80 20|11 8 5#S-= +Q 400 80 20| 3 5 3NS= 43 600 8.0 20
6 2 34S= A 140 60 40|12 4 3NN= &9 400 80 20| 6 2 3¢40-4 &T 200 50 5.0
12 4 2v V= 46 -110 40 60| 3 5 2NS+1 s K 150 40 60|11 8 3¢ 04 &T 200 50 5.0
3 5 1vV+2 46 -140 20 80|10 9 3#N+1 +Q 130 20 8.0|10 9 3NS-1 »5 -100 1.0 9.0
10 9 2NN-2 +8 -200 00 100 7 1 34V-1 &K 50 0.0 100(12 4 3NS-1 vT -100 10 90
13 @- 14 & K74 15 « KKn6
Nord vED976 Ost v KKn632 Syd v EK10762
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#542 #EK3 #E102 #KD83 &#Kn85 #42
& Kn632 & Kn53 497543
v K104 vE104 vKn
¢ Kné 42 + KKn6
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Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 3 2yDN+1 &A 870 100 00| 7 3 2¢vDN= 49 470 100 00| 8 2 5vyN= *A 650 10.0 0.0
4 6 3vN= A 140 80 20|11 10 2v V-2 &7 100 80 20|12 5 4y N= &2 620 80 20
11 10 4v N-1 *A -100 6.0 40| 1 9 2¢vN-1 8 -50 30 7.0 7 3 2¢vN+3 &A 200 6.0 4.0
1 9 240+1 v4 -140 40 60| 4 6 2vN-1 aT -50 30 7.0 1 9 1v N+2 &A 140 30 7.0
8 2 3aV+l *A -170 1.0 90| 8 2 2vN-1 &3 -50 30 7.0|11 10 1v N+2 &A 140 30 7.0
12 5 34 0+1 v4 -170 10 90(12 5 4vyN-1 oT -50 30 70| 4 6 4y N-1 s A -100 0.0 10.0
16 « D73 17 « K10 18 45
Vast v DKn986 Nord vD4 Ost v DKn852
ov + K Ingen + K107 NS 410842
#9752 #KD10872 #1065
4 EKNn1042 49 4 Kn874 4 ED532 4K96 4 DKn10832
v K43 v 105 vE1087 vKKn6 vE7 v K3
¢ E10 + DKn9832 ¢+ Kn863 ¢ D9 ¢ED97 ¢6
#ED4 #KKn86 *6 #EKn4 #E932 #KDKn7
# K865 96 ~E74
vE72 v 9532 v 10964
47654 ¢ E542 ¢ KKn53
#103 #953 &84
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 11 3NO-2 a5 200 100 00| 1 11 INO+1 ¢2 -120 100 0.0 2 10 44 O+2 T -480 70 3.0
12 6 2NV= v8 -120 80 20| 9 3 24 0+2 &9 -170 80 20| 5 7 540+1 T -480 70 3.0
2 10 3v N-3 49 -150 6.0 40| 5 7 2NO+2 &9 -180 6.0 40| 9 3 540+1 ¢J -480 70 3.0
9 3 3NO= a5 -600 40 60| 8 4 34 0+3 &9 -230 40 6.0(12 6 44 0+2 3 -480 70 3.0
8 4 3NO+2 ¢7 -660 20 80| 2 10 44 O= &5 -420 20 80| 1 11 64 O= +5 -980 1.0 9.0
5 7 3NV+3 v8 -690 0.0 100|12 6 54DN-3 vJ -500 00 100| 8 4 64 O= vT -980 10 9.0
19 87 20 K76 21 « K5
Syd v 632 Vast vK Nord v KDKn3
oV ¢ EDKn4 Alla ¢ ED98752 NS ¢ EK62
#EKn97 &D5 D82
a- & EKn109542 494 4 E105 4 EDKn84 410762
vD10754 v KKn9 vD3 v EKn109742 v52 vE976
¢ K1032 ¢ 75 ¢ K1064 ¢ Kn ¢ Kn7 +85
#D1085 3 #E10932 #Kn6 #EK95 #Kn63
« KD63 « DKn832 293
vES8 v 865 v 1084
4 986 +3 + D10943
#K642 K874 £1074
Par  Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
3 11 34DO-3 +¢9 800 100 00| 2 1 34S= *2 140 100 00|12 7 44DV-2 vK 300 10.0 0.0
9 5 340-3 +9 300 80 20| 3 11 3vO= +3 -140 70 3.0|10 4 3¢ N= &3 110 80 20
2 1 240-2 +9 200 50 50| 9 5 3v0= +3 -140 70 30| 2 1 2NN-1 a7 -100 6.0 4.0
12 7 34DO-1 ¢9 200 50 50| 6 8 3¥vO+1 ¢3 -170 30 7.0| 3 11 14 V+1 vK -110 30 7.0
6 8 14 O= v8 -80 20 80|10 4 3vO+1 +3 -170 30 70| 9 5 2saV= *A -110 30 7.0
10 4 3NS-2 v5 -100 00 10012 7 4vO= +3 -620 0.0 100| 6 8 3NN-2 a2 -200 0.0 10.0
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